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EXE 4 8 2 14
T= 2 1 2 5
7Kk 8 10 5 23
YIMTZR 2 6 2 10
& R 10 13 17 40
FTEUR 13 13 8 34
5 INRAykiR—)L 7 2 5 14
INFEUbY 9 4 2 15
TF/INL—R—IL 6 5 5 16
A BZ/\L—KR—)L RSB
RFIVRTIL 4 5 7 16
BFIvbTIL 3 5 5 13
Ry 1 6 1 8
NG 65 70 59 194
Sz 7 9 3 19
R 8 6 0 14
T} 7 7 1 15
X BEE 41 25 12 78
#TE 9 2 4 15
[ BE 4 0 3 7
£E 0 3 0 3
B WeEs s 17 12 13 42
ekl 5 4 4 13
e} 9 6 3 18
A B BT 5 4 3 12
7y 7 2 5 14
L3S X= 2 0 2 4
iy e 0 3 5 8
& BRI 10 3 7 20
iR 8 4 7 19
&8 1 1 1 3
INET 140 91 73 304
EENER - XL ER &5t 205 161 132 498

_16_




